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Question Id : 92090628543 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

TeE od W ¥ e dl U HeH AP Ad1 $ FU F Sd1 7 361 WITd fhan 3R,
dg T dod ¥ $¢ Ug | THNAIG & 3¢ [AaRT &1 39 3Hfid s THR W WrTd gail
1936 ¥ HIUY & TGS § gU UG § I Fel : “H 39 vl R Ugd T § & g &1
EEref R HRd &1 GHWIS &1 JHIUHE GHOEG | 8l [fgd g1 iR, o9 # 39 vsg
FHTAIG 1 ST Sl §, dl [ddl sRqy, AFdgdare) orf § T8l dfe tdh dyii-ie,
3f1ties 32 71" fbeg, WHISTAIG U 3nfdies Rigid A i dgar @ ¢ : “Ug Silad &1 Us g¥H
21 3R 39 ¥q § gg gai +ff YTl 81 YRd $1 SHa1 B SHIel, Saa s aonTR, Sg-iadl 3R
AT 1 g HRA B H FASAIE & Sda] His guRl I Tal o Urdl 5 | 3961 Hdad ¢ &
T o WoHIa® SR Ao gid # dgd 88 SR Hifa®RI URadd @A gitl, ST 3R
FarT-4t wR b sHr 98 Figa w@rdf @1, ofk |y &, amwd aur FReaad yRdg
TTaTS] & ogaRyl &1 Mi, W& S 81T | SUH Hadd ¢ fob-fudl Uss Hifed s #-Feit gmafa
H1 YU BT B, 3R YA Te B | Hiolal AR P 8, YeHRI Udl & IR
& &1 RO HAT S| SHHT HAad & [ 3f=da: 4 Su-! S, sadi ofR g=18ff 1
UNGad S 8N | 3] Aaad ¢, UF s 930l 1 HTH S, S Hielal Yoidre! saawdl 4
Heid: fi gt

Sub questions

Question Number : 1 Question Id : 92090628544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UK TRIS ¥ b UhR @1 o4aedl & RIMUd 63 DI &1d &1 T3 o7

(1) Yollardt 2) YHISEE]
3)  SRIS&dEe] @) SffEgEaret
Options :

920906112801. 1
920906112802. 2
920906112803. 3
920906112804. 4

Question Number : 2 Question Id : 92090628545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

S0 BT AG1S AU g ad ga?

(1) 1937 (2) 1936
(3) 1938 4) 1935
Options :

920906112805. 1
920906112806. 2
920906112807. 3
920906112808. 4

Question Number : 3 Question Id : 92090628546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRITY & SFNR YHeare onfie Rigia & sifafiaa & -

(1) FipaEd e ) HHEdTdrErd
(3)  oilgd ¥ (4) YGollarel gl
Options :

920906112809. 1
920906112810. 2
920906112811. 3
920906112812. 4

Question Number : 4 Question Id : 92090628547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & AR A3 91 Bl grfi?

(1) Yoitardt () Ushardl soawy 9 fim
3) FpwamErl (4) @y

Options :

920906112813. 1
920906112814. 2
920906112815. 3
920906112816. 4



Question Number : 5 Question Id : 92090628548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SUR dED GHISAIE] R S WU H3A & [oU 1aasd AT & -
A HRAY IWArS] &1 @ HIAT

B. el Truft &1 W ST

C. HATh & SOa®T &l WY HA

D. 3l sngdl # uikadH &l

4 feu mu faeedt # & O IR &1 39U S -

(1) dd A C,D

(2) dd A,B,D

(3) dd C,D, B

(4) &ad B,C A
Options :

920906112817. 1
920906112818. 2
920906112819. 3
920906112820. 4

Question Id : 92090628543 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



qeE od Wd ¥ fed dl U HeH P Ad1 $ FU § a1 4 361 WITd fhan 3R,
a¢ iR dud o % US| gueEe & 3¢ [GuRT &1 3| 3fftid us 9aH G- W@ITd g3l
1936 H HIUY & TG-S § gU HMUARH § 314 Fel : “H 39 vl R ugd T § b g a1
RIS SR YR & JERIS 1 GHIYH FASAE | 8 [igd 81 3R, 99 # 39 s
FHTGAIG B SR Sl §, df [ddl sRqy, AFdgdar! orf § 981, afes tdh dqii-ie,
3f1f¥iep ot 71" fp=g, wwIetare ua snfder Risia @ i 9gaR 3 8 ; U Silad &1 Us &IH
21 3R 39 ¥u H gg gl +ft 4T 81 YR B ST BI S, Saew SRISRI, Sg-1adr 3R
AT &1 g B B H FHSAIG & SHdd] His guRl I Tel o Uldl § | 3961 Hdad ¢ &
e oA WeHifa® SR Wi gid #f dgd 93 SR HifaeR! uRadd &4 i, Sl 3R
FErT-4e WR b S 96 Figa w@rdf &1, ok |y &, a9y FReaad yRdg
ToraTs] &1 ogaRdl &1 Mi, W& HA1 81T | SUH Hadd ¢ fob-fudl Uss Hifed o #-fAei gmfa
@1 YU BT G, 3R GATh Te B B Hiojal a1 P TG, YgHRI Udl & IeR
TS &1 RO HAT S| SUHT HAad § [ 3f=dd: 8 Su-1 S, sedi ok g=1ef 1
gfada HA1 B SUDT Hdad ¢, U s 93Gdl &I HIH B, Sl Higgl Yoldre! a1 4
Herd: fi gt

Sub questions

Question Number : 1 Question Id : 92090628544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR H {5 PR &1 awdl & RIMUT H3 B a1 B TS 67

(1) Yolard! 2) GHSEE!
3)  SRIGdEe! @) Sfdadret
Options :

920906112801. 1
920906112802. 2
920906112803. 3
920906112804. 4

Question Number : 2 Question Id : 92090628545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S B TGS, A fow auf gan?

(1) 1937 (2) 1936
(3) 1938 (4) 1935
Options :

920906112805. 1
920906112806. 2
920906112807. 3
920906112808. 4

Question Number : 3 Question Id : 92090628546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS & IR GHreArg i fgid F sfalke g -

(1  FRewdaad! Rgia (2) WHEdEdEE!
(3)  offad g @) Yoiare g
Options :

920906112809. 1
920906112810. 2
920906112811. 3
920906112812. 4

Question Number : 4 Question Id : 92090628547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SR A §dl 4l grit?

(1) Yollart ) Yoiard! saaed 9 i
(3) FRydmEE (4) SRy

Options :

920906112813. 1
920906112814. 2
920906112815. 3
920906112816. 4

Question Number : S Question Id : 92090628548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR & SR tRad JHIGdIG] odaRil I R & & (oY Sawaed AT 6 -
A HRAY IFAIST &1 @H B

B. sl Il &1 W ST

C.  HATh Dl HIRIT B IO FAT

D. 3t angdl # uiad &l

- &y e fawredl & € |8t 3T &1 954 S :
(1) dd A CD
(2) dd A,B,D
(3) dd C,D,B
(4) &ad B, C A
Options :

920906112817. 1
920906112818. 2
920906112819. 3
920906112820. 4

Sub-Section Number : 2
Sub-Section Id : 920906914
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiefe e & S W YT 87

() I 2 $P
3) 3P @ TP
Options :

920906112821. 1
920906112822. 2
920906112823. 3
920906112824. 4



Question Number : 6 Question Id : 92090628549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiiefd 2reg & &H 91 UTd §?

() T 2 P
3) 3P @) TP
Options :

920906112821. 1
920906112822. 2
920906112823. 3
920906112824. 4

Question Number : 7 Question Id : 92090628550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

59 gAY § Ugdl U YEIErEs fGN g1 g2

(1) dgsilfe (2) dgeY
3) HHURY @ &
Options :

920906112825. 1
920906112826. 2
920906112827. 3
920906112828. 4

Question Number : 7 Question Id : 92090628550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

59 gAY § Ugdl U YEIErEs fGN g1 g2

(1) dgsilfe (2) dgeY
3) SHYRY @ f&1



Options :

920906112825. 1
920906112826. 2
920906112827. 3
920906112828. 4

Question Number : 8 Question Id : 92090628551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WG HAT & fere Ifed geraw g —

(1) SFIaT fam (2) SIS A
(3)  SFIBTaMI (4) SffE M
Options :

920906112829. 1
920906112830. 2
920906112831. 3
920906112832. 4

Question Number : 8 Question Id : 92090628551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GG HAT S fore Ifed geraw & -

(1)  3fel e (2) ST FHAT
(3)  STBIAMI (4) 3G TIFI
Options :

920906112829. 1
920906112830. 2
920906112831. 3
920906112832. 4

Question Number : 9 Question Id : 92090628552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RN Yeg 1 AgHd TU G -

(1) A (2) <M
(3) o 4) &
Options :

920906112833. 1
920906112834. 2
920906112835. 3
920906112836. 4

Question Number : 9 Question Id : 92090628552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RN eg; 1 dgHd TU G -

(1) 4] (2) alH
(3) &I 4) oo
Options :

920906112833. 1
920906112834. 2
920906112835. 3
920906112836. 4

Question Number : 10 Question Id : 92090628553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ] dgad- gl -

m @ @ SF®
(3) AP 4) TP
Options :

920906112837. 1
920906112838. 2
920906112839. 3
920906112840. 4



Question Number : 10 Question Id : 92090628553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U’ BT dgda- g7l -

1y @ ) 9D
(3) DI 4) TP
Options :

920906112837. 1
920906112838. 2
920906112839. 3
920906112840. 4

Question Number : 11 Question Id : 92090628554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe ¥ =15 g9 14 @199 519 SR

X X
(1) 19 2y 17
(3) 145 (4) 15
Options :

920906112841. 1
920906112842. 2
920906112843. 3
920906112844. 4

Question Number : 11 Question Id : 92090628554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz X1 _5 g9 1+ - &1 °F 919 SR

X x?
(1) 19 2 17
(3) 145 (4) 15
Options :

920906112841. 1



920906112842. 2
920906112843. 3
920906112844. 4

Question Number : 12 Question Id : 92090628555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe AD = cD = BD, 4 BHifdd HRT OACBO &1 &FA%d FId Hiferd|
[ T g, ﬂ:§]

«— 3m —>

161 81
D ——— 2) —HP
o 28 @ 14
(3) gfﬁz @) 6.5
Options :

920906112845. 1
920906112846. 2
920906112847. 3
920906112848. 4

Question Number : 12 Question Id : 92090628555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe AD = cD = BD, 9d BMifdhd MRT OACBO &1 &AHd FId BHiferg |

81
1 —_H2 2y —HP2
() 28 (@ 14
(3) 79 the @) 6.5 H2
14
Options :

920906112845. 1
920906112846. 2
920906112847. 3
920906112848. 4

Question Number : 13 Question Id : 92090628556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 U3y {6 ¢F &1 HH: 20 fiFe 3R 60 e § W 9&d &1 aFi ursy fide 12 fiFe |
T BT a1 YT R IPha 2

(1) 60% (2) 75%
(3) 80% (4) 85%
Options :

920906112849. 1
920906112850. 2
920906112851. 3
920906112852. 4



Question Number : 13 Question Id : 92090628556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 U3y {6 ¢F &1 HH: 20 fiFe 3R 60 e § W 9&d &1 aFi ursy fide 12 fiFe |
& P fbdT U MR Tbhd &7

(1) 60% (2) 75%
(3) 80% (4) 85%
Options :

920906112849. 1
920906112850. 2
920906112851. 3
920906112852. 4

Question Number : 14 Question Id : 92090628557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l ¢ A TUT B 9 Ul W HHTE: 108 fadt/d dqur 72 ferfl/d &1 IR & g &l 81 g
& TP GR B U 60 Yb3 3R 120 Ybs W UR HX &f df I B Trarsal &1 U
A B |

(1) T;2 21 253
(3) 3:2 4 3:4
Options :

920906112853. 1
920906112854. 2
920906112855. 3
920906112856. 4

Question Number : 14 Question Id : 92090628557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 29 A YT B 99 U R HHRE 108 fad/d aur 72 /" &1 IR 4 g Sl 81
¢ U W I HHY: 60 Ybhs 3R 120 s H UR Sl &1 dI gl &I ararsdl &1 Surd
T B

(1) 152 2) 2:3
(3) 3:2 4 2:4
Options :

920906112853. 1
920906112854. 2
920906112855. 3
920906112856. 4

Question Number : 15 Question Id : 92090628558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U 8 o= § aRTER — SRIER |ie] T § d G sruA-3gAr fgwan @M | 45 fiFe &1 99y
od & d 12 9= 2 gueT 30 e | fhaa foosn @1 9%d 87

(1) 8 2 7
3) 6 4) 5
Options :

920906112857. 1
920906112858. 2
920906112859. 3
920906112860. 4

Question Number : 15 Question Id : 92090628558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U O 8 o= W aR1ER — a¥TE diel T € d O SraA1—sgAT fgwan @M | 45 fiFe &1 99y
od € d 12 9= 2 gveT 30 e # fhaa oo @1 9od 82

(1) 8 2) 7
(3) 6 4 5
Options :

920906112857. 1



920906112858. 2
920906112859. 3
920906112860. 4

Question Number : 16 Question Id : 92090628559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 9 faww &1 ggar:
J4a+25 V36 + 64
A/49+169 49+49
Options :

920906112861. 1
920906112862. 2
920906112863. 3
920906112864. 4

Question Number : 16 Question Id : 92090628559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 9 faun 31 ugar:
J4 425 +36 + 64
100 25
(3) —— (4)
A/49+169 9+ 49
Options :

920906112861. 1
920906112862. 2
920906112863. 3
920906112864. 4

Question Number : 17 Question Id : 92090628560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

&R & <) UHE! & did U fafdee day g1 3feRf &1 U g g« : & ol 3fiR o man g1
dg el [deey gu ol forg - & gEd SR QU 112 3aRT & WHg & U1y 9HHE ey 1fud
B

SUWY - LPTX : : PRTV :

(1) IMQU (2) INRU
(3) INQU (4) IMRU
Options :

920906112865. 1
920906112866. 2
920906112867. 3
920906112868. 4

Question Number : 17 Question Id : 92090628560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el & &) gl & ot U fafdne ddy g1 31ari &1 U uig g - & ot ofik fo wan 2
g% Yol [deey AU R - & gudl iR 13U 8 siari & UHg & Wiy 9HA ey wiftd
S

SUWY : LPTX :: PRTV :

(1) IMQU (2) INRU
(3) INQU (4) IMRU
Options :

920906112865. 1
920906112866. 2
920906112867. 3
920906112868. 4

Question Number : 18 Question Id : 92090628561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& 12 gmen ¥ sren v faf@u)
17,19, 23, 29, 31, 37,

(1) 40 (2) 42
(3) 41 (4) 43
Options :

920906112869. 1
920906112870. 2
920906112871. 3
920906112872. 4

Question Number : 18 Question Id : 92090628561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& S e § spTen ue o)
17,19, 23, 29, 31, 37,

(1) 40 (2) 42
(3) 41 (4) 43
Options :

920906112869. 1
920906112870. 2
920906112871. 3
920906112872. 4

Question Number : 19 Question Id : 92090628562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepalt faiw e mwT 7 afe 2rex “PARTNER” BT 0ZQSMDQ F8l STl § T WWsa “SEGMENT*
&1 I HINT H 1 HE gRI?

(1) TFHNFOU (2) RDFLDMS
(3) RDELDMS (4) RDFEDNS

Options :



920906112873. 1
920906112874. 2
920906112875. 3
920906112876. 4

Question Number : 19 Question Id : 92090628562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frit fadiy ey # I e “PARTNER” &1 0ZQSMDQ 8l Il € ol s “SEGMENT
&1 I U1 H 71 He g

(1) TFHNFOU (2) RDFLDMS
(3) RDELDMS (4) RDFEDNS
Options :

920906112873. 1
920906112874. 2
920906112875. 3
920906112876. 4

Question Number : 20 Question Id : 92090628563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g3l ¥ IR qY1 Uld 99 & 419 98 99 F1d DI o 7 &1 g iR 4 P g3 Uh g &
rEad gil

(1) 4361@2?%1?-!% (2) 4@@35%&3{3
3) 4W38%ﬁiﬂf @) 5@?:13?{2?%&:;3
Options :

920906112877. 1
920906112878. 2
920906112879. 3
920906112880. 4

Question Number : 20 Question Id : 92090628563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gS1 § IR dU1 Uid g9 & o9 9 0T J1d Dl ofd e &1 g3 3R 92 Bl gs U g &
Eqd gl

(1) 43@@?2?%1%2 (2) 4W35%ﬁ:rd
3) 4W38%fﬂ¢l’c’ @) SWET%M
Options :

920906112877. 1
920906112878. 2
920906112879. 3
920906112880. 4

Question Number : 21 Question Id : 92090628564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR febdhe deld 91 (Becl) o1 &l g
(1) g () dTge
(3) Pl @) faee
Options :

920906112881. 1
920906112882. 2
920906112883. 3
920906112884. 4

Question Number : 21 Question Id : 92090628564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR febdhe deld 91 (Becl) o1 &l g
(1) g () dTge
(3) Pl @) faee
Options :

920906112881. 1



920906112882. 2
920906112883. 3
920906112884. 4

Question Number : 22 Question Id : 92090628565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 & 91y gl 1 &1 faH S

- (fAy & 93 sraaR) REIEINCR)
(A) U () HRd
® TN (ay  SmRefer
© TN (i) gaileivs
(0) < fesga (V) H131

412 feu e f9sredi # | 9l IR &1 994 Sifore;

(1) (A)-(), (B)-(IV), (C)-(n), (D)-(1)
2)  (A)-(V), (B)-(I1), (O)-(111), (D)-(1)
(3) (A)-(l), (B)-(IV), (©)-(1), (D)-(1)
(4) (A1), (B)-(IV), (O)-(1). (D)-(l1)

Options :

920906112885. 1
920906112886. 2
920906112887. 3
920906112888. 4

Question Number : 22 Question Id : 92090628565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 9y gl 1 &1 e S

-l @y F 98 srEaR) T i1 (@2

(A) T () WHRd
®) <iNe (ay et
€ T () eievs
(D) g feAa (V) TSI
19 fau e fasedl # 9 Uel IR &1 904 i

(N (@)-(1), B)-1V), (Q)-(IIN), (D)-(1I)

(2) (A)-(1V), (B)-(I1), (Q)-(11), (D)-(1)

(3) (A)-(11), (B)-(IV), (C)-(111), (D)-(1)

(4) (A)-(11), (B)-(IV), (Q)-(1), (D)-(l11)

Options :

920906112885. 1
920906112886. 2
920906112887. 3
920906112888. 4

Question Number : 23 Question Id : 92090628566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRAF YA RUT M E:

&Y | - fagr sifefera &1 IwrE 8

Y 11 : ST B gal IR 8

IR FYA & 3Tl H, 1 fGU T fapetl & I Ual IR 61997 DY

(1) SYFITHYFT IS Hel g
(20  ®YT1dHYA 1 GF Tad §
(3) YA I GEl g g dYF 1 Ted B
(4) ®YFITEd g [BgPY I TSI B

Options :
920906112889. 1



920906112890. 2
920906112891. 3
920906112892. 4

Question Number : 23 Question Id : 92090628566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRAF YA RUT M E:

&Y | - fagr sifefera &1 IwrE 8

Y 11 : ST B gal IR 8

IR FYA & 3Tl H, 1 fGU T fapetl & I Ual IR 61997 DY

(1) SYFITHYFT IS Hel g
(20 ®YFITEHYA 1 GFI TTad §
(3) YA I GEl g g dYF 1 Ted B
(4) ®YFITEd g [BgPY I TSI B

Options :

920906112889. 1
920906112890. 2
920906112891. 3
920906112892. 4

Question Number : 24 Question Id : 92090628567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faggd U SR gleX O HHW: 100 W, 220V YT 1000w, 220V f&ifd €1 gex &1 ufaviy

.
(1y I (2) UW & ulddy ¥ sffts
(3) UW & Uiy 9 &H @) Ud® UfdlYy & SE

Options :

920906112893. 1
920906112894. 2
920906112895. 3
920906112896. 4



Question Number : 24 Question Id : 92090628567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faggd U SfR gleX O HH: 100 W, 220V 7YT 1000w, 220V &ifd €1 giex &1 ufaviy

@
m A (2) UW & ufoIy | 3figd
(3) UdE S Uy " FH @) UHE P UidAY & SR

Options :

920906112893. 1
920906112894. 2
920906112895. 3
920906112896. 4

Question Number : 25 Question Id : 92090628568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y gt 11 &1 faaE i

LGIENGIEED) el | (G&IP)
@) e & () 3 W, T 315
) fE=ad () Y 34w U ¥{d
(C) Wl UGS () FIAHT g BISH
(D) S{Hd HIdH (v) df 3R feaaes

2 fau e faseai © 9§ 92 IR &1 994 ST

(1) (A=, B)-(1), (©)-(n), (D)-(IV)
(2) (A=), (B)-(1, (Q)-(IV), (D)-(IN)
(3) (A=), (B)-(1), (C)-(), (D)-(IV)
(4)  (A)-(1), (B)-(1), (C)-(IV), (D)-(IN)

Options :

920906112897. 1
920906112898. 2
920906112899. 3
920906112900. 4



Question Number : 25 Question Id : 92090628568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl | & Ay G || B A B

LGIENGIEED) el | (G&IP)
(A) A BT (S W, U o7 it
B) fFFad () oY 3AHF U R
(C) Tl gHbols () SadrH< UF WisH
(D) 3l WiaH (Iv) d 3R feuaes

42 feu e fasedi & 9§ 2 IR &1 994 SIS

(1) A)-(1), (B)-(1), (C)-(), (D)-(IV)
(2) (A=), (B)-(1), (C)-(IV), (D)-(1)
(3) (A=), (B)-(1), (C)-(I), (D)-(IV)
(4) (A)-(D), (B)-(11), (C)-(IV), (D)-(11)

Options :

920906112897. 1
920906112898. 2
920906112899. 3
920906112900. 4

Part B: Life Science

Section Id : 920906566
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906915

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 92090628569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Molecular absorption spectroscopy based on electromagnetic radiation in the
wavelength region of —

(Mm 190 — 800 nm (2) 190-800 nm
(3) 1000 — 1500 nm (4) 1000 - 2000 nm
Options :

920906112901. 1
920906112902. 2
920906112903. 3
920906112904. 4

Question Number : 26 Question Id : 92090628569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS IR W Soeegiad g [Afex0 R eia 8ia € aul 396! alee
e A gae -

(M) 190 - 800 nm (2) 190 -800 nm
(3) 1000 — 1500 nm (4) 1000 - 2000 nm
Options :

920906112901. 1
920906112902. 2
920906112903. 3
920906112904. 4

Question Number : 27 Question Id : 92090628570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dye used for visualization of DNA or RNA in agarose gel is —

(1) Ethidium borate (2) Ethidium oxide
(3) Ethidium bromide (4) Ethidium chloride



Options :

920906112905. 1
920906112906. 2
920906112907. 3
920906112908. 4

Question Number : 27 Question Id : 92090628570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3TRIS S H DNA T RNA P 3T 8 TG 1909 & -

(M siudardERe (2) sifgan siiqass
(3) slufegnsmes (4) sSHUfsTn w®REeS
Options :

920906112905. 1
920906112906. 2
920906112907. 3
920906112908. 4

Question Number : 28 Question Id : 92090628571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The annealing temperature during the PCR reaction should be —

)] 45 - 98°C (2) 45-65°C
(3) 45 -90°C (4) 30-90°C
Options :

920906112909. 1
920906112910. 2
920906112911. 3
920906112912. 4

Question Number : 28 Question Id : 92090628571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PCR fobar & drarRitd amg 49 g =nfed -

)] 45-98°C (2) 45-65°C
(3) 45 - 90°C (4) 30-90°C
Options :

920906112909. 1
920906112910. 2
920906112911. 3
920906112912. 4

Question Number : 29 Question Id : 92090628572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Size exclusion chromatography is used to separate the proteins on the basis of

(1) size (2) temperature
(3)  net binding specificity (4) net charge
Options :

920906112913. 1
920906112914. 2
920906112915. 3
920906112916. 4

Question Number : 29 Question Id : 92090628572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 3fOdoi- guiciad H Ui &1 F9 & YR B (e &1 S 8

(1) MM (2) d9HHE
(3) Hoa gyd fafpar (4) THA AU
Options :

920906112913. 1
920906112914. 2
920906112915. 3
920906112916. 4

Question Number : 30 Question Id : 92090628573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In complement systems which is not the example of anaphylatoxins —

(1) Cao (2) Cao
B O (4) Csa
Options :

920906112917. 1
920906112918. 2
920906112919. 3
920906112920. 4

Question Number : 30 Question Id : 92090628573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

98 W dd Sil TIBRead BT 3aTe0l gl 87

(1) Cas (2) Cas
3 G (4) Css
Options :

920906112917. 1
920906112918. 2
920906112919. 3
920906112920. 4

Question Number : 31 Question Id : 92090628574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are anti-isotype antibodies?

(1)  directed against antigenic determinants of particular antigen combining site
of a particular antibody

(2)  directed against antigenic determinants that are allele specific

(3)  directed again determinant present on variable region of light chain class of
antibody

(4)  directed against determinants present on constant region of a particular
heavy or light chain class of antibody, but not on any of the others



Options :

920906112921. 1
920906112922. 2
920906112923. 3
920906112924. 4

Question Number : 31 Question Id : 92090628574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufa g9Ey ufcrel Far gidr &2

(1) ot ufcrel & fafy ufoes s=@ o R fRyd ufaer feefirie & ufa B
(2) Udd fafaw ufde feexfiFe & ufa g
(3) ufeRef & gel Jaa avf & ufiad &3 W Iufya feefie & ufa FAdRa

4) ufcrel 3 3w U a1 ot HEen o & R & R fya fEexfre & ufa
e fe o= & ufa 18!

Options :

920906112921. 1
920906112922. 2
920906112923. 3
920906112924. 4

Question Number : 32 Question Id : 92090628575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which molecule does not take part in inflammatory response?

(1)  Dopamine (2) Prostaglandin
(3) Thromboxane (4) Leukotrienes
Options :

920906112925. 1
920906112926. 2
920906112927. 3
920906112928. 4

Question Number : 32 Question Id : 92090628575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 7 U] NS S & wimfid 78 g 22

(1) SR (2) URerdfed
(3)  drEEa (4) THICEA
Options :

920906112925. 1
920906112926. 2
920906112927. 3
920906112928. 4

Question Number : 33 Question Id : 92090628576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Varicella Zoster vaccine is administered for

(1) Hepatitis B virus (2) Small pox virus
(3) Chicken pox virus (4) Polio virus
Options :

920906112929. 1
920906112930. 2
920906112931. 3
920906112932. 4

Question Number : 33 Question Id : 92090628576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR SReR &1 AT 4 g femn S & -

(1) federsiew s faumy (2) I Ul fawmo]
(3) faed uley faum (4) uiferal faug
Options :

920906112929. 1
920906112930. 2
920906112931. 3
920906112932. 4



Question Number : 34 Question Id : 92090628577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which microbe is not capable of degrading petroleum hydrocarbons:

(1)  Candida (2) Achromobacter
(3) Pseudomonas (4) Aspergillus
Options :

920906112933. 1
920906112934. 2
920906112935. 3
920906112936. 4

Question Number : 34 Question Id : 92090628577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D BT Y&l Ueierad eI3gldla- & 3fUge- 3 W el o7

(M e (2) UbHEGT
(3) TIHHEM 4) TERRTH

Options :

920906112933. 1
920906112934. 2
920906112935. 3
920906112936. 4

Question Number : 35 Question Id : 92090628578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prokaryotic mRNAs contain a conserved polypurine tract, consensus AGGAGG,
located about seven nucleotides upstream from the AUG initiation codon. This
conserved hexamer is called

(1 Kozak's sequences (2) Shine-Dalgano sequences

(3) Consensus sequences (4) TATA box sequences

Options :



920906112937. 1
920906112938. 2
920906112939. 3
920906112940. 4

Question Number : 35 Question Id : 92090628578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WibiRgiied mRNAs TRf& TiftTede Sde Jaa=Id AGGAGG BIdT 8, Wl AUG 3%
W@@Wﬁ@ﬁﬂﬂﬂﬂﬂ{&ﬂ@m@@m%l%m%ﬁm
Fead g |

(1) IS A (2) S-S SHFHH
(3)  HdHEd SIHH (4) TATA SIcd 3FHH
Options :

920906112937. 1
920906112938. 2
920906112939. 3
920906112940. 4

Question Number : 36 Question Id : 92090628579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of enzyme in known to remove methyl or ethyl groups from Guanine
bases that have been mutagenized by Alkylating agents?

(1)  Photolyase (2) DNA N-glycosylases
(3) Alkyltransferase (4) AP endonuclease
Options :

920906112941. 1
920906112942. 2
920906112943. 3
920906112944. 4

Question Number : 36 Question Id : 92090628579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 99 ¥ A a1 e §Ug &1 geH &1 $ HF 4 USR & TgH Hdl &
o] Teh iRl Tole gRT Idiafdd for i g2

(1) ey (2) DNA N-TIHHZAH
(3) Uchldd civmed (4) AP USgfdaud
Options :

920906112941. 1
920906112942. 2
920906112943. 3
920906112944. 4

Question Number : 37 Question Id : 92090628580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the technique Mathew Mesalson and Franklin Stahl used to evidence that
DNA replication is 'semi conservative’
(1)  Cesium Chloride (CsCl) density gradient centrifugation
(2) 2D Gel Electrophoresis
(3) Mass spectrometry
(4)  DNA sequencing
Options :
920906112945. 1
920906112946. 2

920906112947. 3
920906112948. 4

Question Number : 37 Question Id : 92090628580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T THAe ayl Habfer €ied R Ugad 39 ddb-1d &1 A1 g3t e gR1 DNA
yfcipfd & sref Tveft g &1 g firan

(1) RafSTm aRgs (CsCl) 99d AfSUe 3adH-=u

(2 2D vid faggd oo HaeH

(3) oUW WaeHMd

(4) ST SFIHHUT



Options :

920906112945. 1
920906112946. 2
920906112947. 3
920906112948. 4

Question Number : 38 Question Id : 92090628581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two highly inbred strains of mice, one with black fur and the other with gray fur were
crossed, and all of the F1 offsprings had black fur. Predict the phenotypic outcome of
intercrossing the F; offsprings.

(M All have black fur (2) All have Gray fur
(3 2 black fur : 2 Gray fur (4) 3 black fur: 1 Gray fur
Options :

920906112949. 1
920906112950. 2
920906112951. 3
920906112952. 4

Question Number : 38 Question Id : 92090628581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g &I 4 I 3id: USTd ¥ [0 Ub Bl B BT dUT GHA T B 6T YI, BT B0
B R Fy Fdfd § T4t ¢ 1l B b I1 Fy Hdid & JgT BT MU H 0 I W
Hdfd & LIRS T HTHa PN ;

(1) T A F1l W Ert ) i H 3w Erft
(3) 2ol B AR 2 AW & gl (4) 3 BT B P 3R 1 T B BTG
Options :

920906112949. 1
920906112950. 2
920906112951. 3
920906112952. 4

Question Number : 39 Question Id : 92090628582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

How many number of autosomal linkage groups have human somatic cells?

(1 23 (2) 22
(3) 24 4) 1
Options :

920906112953. 1
920906112954. 2
920906112955. 3
920906112956. 4

Question Number : 39 Question Id : 92090628582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHd SIS SIAGST T sierard e gl & e #7182

y 22 2y 22
(3) 24 (4) 1
Options :

920906112953. 1
920906112954. 2
920906112955. 3
920906112956. 4

Question Number : 40 Question Id : 92090628583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In DNA microarray techniques consist of

(1) large number of ds DNA (2) large number of ss DNA
(3) small number of ss DMA (4) large number of ds DNA
Options :

920906112957. 1
920906112958. 2
920906112959. 3
920906112960. 4



Question Number : 40 Question Id : 92090628583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA HISHIN daia! # gl g -

(1)  ds DNA & 3t d&ar (2) ss DNA &1 3ff¥ie H®=T
(3)  ss DNA &l &H TSI (4) ds DNA &1 3t dEm
Options :

920906112957. 1
920906112958. 2
920906112959. 3
920906112960. 4

Question Number : 41 Question Id : 92090628584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Small circular DNAs such as plasmids and small viral DNAs when have no breaks in
either strand are referred as

(1) Nucleosome (2) Close circular DNA
(3) Micked DNA (4) Chromatid
Options :

920906112961. 1
920906112962. 2
920906112963. 3
920906112964. 4

Question Number : 41 Question Id : 92090628584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl DNA S WIieTe ad1 @1c fasmrdia pna forad st oft € & 15 vioH 18
gIdl 8, 98 $eddl ¢

(1) gfeagrE (2) 9d gl DNA
(3) fesDNA 4) Hmfeg
Options :

920906112961. 1



920906112962. 2
920906112963. 3
920906112964. 4

Question Number : 42 Question Id : 92090628585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Telomeres end with multiple repeated sequences of the pattern

™ (5") (Th Gy)n 2) (5" (Ux Gy)n

(3") (Ax Cy)n (3 (An Cy)n

,  G)nGyn 5 )G

® @y @ 3y wx Gn
Options :

920906112965. 1
920906112966. 2
920906112967. 3
920906112968. 4

Question Number : 42 Question Id : 92090628585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dgd ¥ YAIgd 3 HH UeH ard siqavs R g
) () (TnGy)n &) (59 (Ux Gy)n
(3 (Ax Cy)n (3 (An Cy)n
* (5') (In Gy)n (5) (In Gy)n
G @) angn @ @yurcn
Options :

920906112965. 1
920906112966. 2
920906112967. 3
920906112968. 4

Question Number : 43 Question Id : 92090628586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DNA binding proteins associated with bacterial chromosomes are :-

(1) HD and H5 (2) HUand H1
(3) HU and H6 (4) HZ and H1
Options :

920906112969. 1
920906112970. 2
920906112971. 3
920906112972. 4

Question Number : 43 Question Id : 92090628586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I1aTY] ORI § Hag DNA S RI I €

(1)  HDTYIH5 (2) HU TYTH1
(3) HU Y H6 (4) HZ TUTH1
Options :

920906112969. 1
920906112970. 2
920906112971. 3
920906112972. 4

Question Number : 44 Question Id : 92090628587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eukaryotes have two major chromatin proteins in SMC family. They are

(1 Integrin and laminin
(2) Cohesins and condensin
(3) Hemoglobin and myoglobin

(4) Actin and myosin

Options :

920906112973. 1
920906112974. 2
920906112975. 3
920906112976. 4



Question Number : 44 Question Id : 92090628587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SMC el T gabf¥dics # 2 T pifeA U e g1 U &

(1) 3R au afafHEa (2) SRR Y FofE
() fenArafa gy arafas (4) Ufde qur ATEIRE
Options :

920906112973. 1
920906112974. 2
920906112975. 3
920906112976. 4

Question Number : 45 Question Id : 92090628588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In general, a carbohydrate molecule with n chiral centre can have

(M 2n+2 stereocisomers (2) n-2 sterecisomers
(3) 2™ stereoisomers (4) 2" stereocisomers
Options :

920906112977. 1
920906112978. 2
920906112979. 3
920906112980. 4

Question Number : 45 Question Id : 92090628588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHIRI n-$ R $5 910l BlaieRee 30§ 8 ¥hd 8

(1) 2n+2 Bfdw gaEgdl (2) n-2 Bf9H gAETd
(3) 22 3fdH gHEgd] (4) 2" 39w gAEgd
Options :

920906112977. 1
920906112978. 2



920906112979. 3
920906112980. 4

Question Number : 46 Question Id : 92090628589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most stable structure for a random-sequence DNA molecule under physiological
conditions is

(1) C form of DNA (2) A form of DNA
(3) Z form of DNA (4) B form of DNA
Options :

920906112981. 1
920906112982. 2
920906112983. 3
920906112984. 4

Question Number : 46 Question Id : 92090628589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRRfHaT ARy 7 grefesd o dhd & DNA @1 Ja8 IR d3E §

(1) C-UhX &1 DNA (2) A-UdX &l DNA
(3) Z-UhX & DNA (4) B-UPhKR &l DNA
Options :

920906112981. 1
920906112982. 2
920906112983. 3
920906112984. 4

Question Number : 47 Question Id : 92090628590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Porins are proteins found in gram-negative bacteria such as £ cofi and allow
to cross the outer membrane

(1)  Amphipathic solutes (2) Hydrophobic solutes

(3) Nonpolar solutes (4) Polar solutes



Options :

920906112985. 1
920906112986. 2
920906112987. 3
920906112988. 4

Question Number : 47 Question Id : 92090628590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3T SAIY] O £ colf U S aTdl 9ife UieH, 3{U[3{l 1 |redl el
JREASAE |

(1) IHTHAd! (TrplUiye) faeg (2) Savre faeg

(3)  siydig faeg (4) ydig faag

Options :

920906112985. 1
920906112986. 2
920906112987. 3
920906112988. 4

Question Number : 48 Question Id : 92090628591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the enzyme ATP synthase Fo domain is sensitive to

(1) Oligophycin (2) Oligosaccharide
(3) Oligomycin (4) Oligonucleotide
Options :

920906112989. 1
920906112990. 2
920906112991. 3
920906112992. 4

Question Number : 48 Question Id : 92090628591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TISH ATP Ri%eH W Fo S19H A9 & Ui Wad! gan gl

(1) SifereraRE (2) SNTAHISS
(3)  siferwmafiE (4) Shferi=gfaasiegs
Options :

920906112989. 1
920906112990. 2
920906112991. 3
920906112992. 4

Question Number : 49 Question Id : 92090628592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not the type of positively charged amino acid?

(1)  Arginine (2) Histidine
(3) Asparagine (4) Lysine
Options :

920906112993. 1
920906112994. 2
920906112995. 3
920906112996. 4

Question Number : 49 Question Id : 92090628592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@I 1 YHTHS T ardt THIAT 30d BT 3860 g1 § ?

(1) SRGEE (2) feEEF
(3) UERfeH (4) WA
Options :

920906112993. 1
920906112994. 2
920906112995. 3
920906112996. 4



Question Number : 50 Question Id : 92090628593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In most higher eukaryotes, the fatty acid synthesis occurs in cytosol, but in plants it
occurs in

(1)  cytosol (2) endoplasmic reticulum
(3) mitochondria (4) chloroplast
Options :

920906112997. 1
920906112998. 2
920906112999. 3
920906113000. 4

Question Number : 50 Question Id : 92090628593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mfﬂ?m@ﬁmmwwmﬂmﬁmmﬁ%mﬂ
gl

(1) IS 2) USTaiees Wagad
(3) HECDISAl (4) FARGARE
Options :

920906112997. 1
920906112998. 2
920906112999. 3
920906113000. 4

Question Number : 51 Question Id : 92090628594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When the bacterium Agrobacterium fumefaciens comes in contact with damaged
plant cell, the segment of Ti plasmid called T-DNA is transferred from plasmid and
integrated at a random position in one of the plant cell chromosomes. The size of
T-DNA is

(M) 80,000 bp (2) 40,000 bp
(3) 23,000 bp (4) 50,000 bp
Options :

920906113001. 1
920906113002. 2
920906113003. 3
920906113004. 4

Question Number : 51 Question Id : 92090628594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uld Gﬁiﬂﬂj Agrobactenum tumefaciens yfoud ey SIReT & H@ud A Sl g,
dl Ti WIFETS &1 T-DNA TS W8 WIS ¥ AR 16 Urey ST oRE
grefes® R UR GAfdHd 8 S1d1 € | T-DNA BT SHU E |

(1) 80,000 bp (2) 40,000 bp
(3) 23,000 bp (4) 50,000 bp
Options :

920906113001. 1
920906113002. 2
920906113003. 3
920906113004. 4

Question Number : 52 Question Id : 92090628595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The completed sequence of the human genome was published in

(1) 2020 (2) 2003
(3) 2006 (4) 2010
Options :

920906113005. 1
920906113006. 2



920906113007. 3
920906113008. 4

Question Number : 52 Question Id : 92090628595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG ST &1 QR0 3shH fbd a8 § UehIRrd g1 4T?

(1) 2020 (2) 2003
(3) 2006 (4) 2010
Options :

920906113005. 1
920906113006. 2
920906113007. 3
920906113008. 4

Question Number : 53 Question Id : 92090628596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plasmids are circular DNA. Naturally occurring bacterial plasmids range in size from

(M 5,000 to 4,00,000 bp (2) 50,000 to 4,00,000 bp
(3) 50,000 to 4,00,000 bp (4) 5,000 to 4,00,000 bp
Options :

920906113009. 1
920906113010. 2
920906113011. 3
920906113012. 4

Question Number : 53 Question Id : 92090628596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIS Il DNA & | Widfde ¥4 ¥ U §F dTel Sid] Wiieis &l STHd &
R H EIar g

(1) 5,000 to 4,00,000 bp (2) 50,000 to 4,00,000 bp
(3) 50,000 to 4,00,000 bp (4) 5,000 to 4,00,000 bp
Options :

920906113009. 1
920906113010. 2
920906113011. 3
920906113012. 4

Question Number : 54 Question Id : 92090628597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gene expression can not be analyzed using this technique

(1)  DNA fingerprinting (2) Fluorescence in situ hybridization
(3) RT-PCR (4) DNA microarray
Options :

920906113013. 1
920906113014. 2
920906113015. 3
920906113016. 4

Question Number : 54 Question Id : 92090628597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it afifieafaa &1 fawewor g fafe g =&t fava o aar @

(1)  DNA fiTRfUfen (2) TRIREY ¥ R JHI0
(3) RT-PCR (4) DNA HISHITY
Options :

920906113013. 1
920906113014. 2
920906113015. 3
920906113016. 4



Question Number : 55 Question Id : 92090628598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most efficient and widely used methods for transforming animal cells rely on

(1) BAC (2) Liposomes or viral vectors
(3) Plasmids (4) Agrobacterium tumefaciens
Options :

920906113017. 1
920906113018. 2
920906113019. 3
920906113020. 4

Question Number : 55 Question Id : 92090628598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol HIfRHT & FuiaRor 7 Fad YeH IY1 dgyafed faft g 1

(1)  BAC (2) TS T faur daex
@) @i (4) THSFNTH egHIBIRTT
Options :

920906113017. 1
920906113018. 2
920906113019. 3
920906113020. 4

Question Number : 56 Question Id : 92090628599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following phase(s) in bryophytes is/are found freely in nature
(1)  Gametophytic phase

(2)  Sporophytic phase

(3)  Saprophytic phase

(4)  Gametophytic and sporophytic phase

Options :



920906113021. 1
920906113022. 2
920906113023. 3
920906113024. 4

Question Number : 56 Question Id : 92090628599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SrarETse # g uraRn uefd # ged ©0 § urdt ot &

(1)  gHBIGHG UawT

(2)  SISUEEIHG WawdT

(3)  Han uraR1

(4)  gHDIGING qUT SIS NG WTaw G
Options :

920906113021. 1
920906113022. 2
920906113023. 3
920906113024. 4

Question Number : 57 Question Id : 92090628600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following plant has rhizophore?

(1) Marsilea (2) Selaginella
(3)  Equisetum (4) Rhynia
Options :

920906113025. 1
920906113026. 2
920906113027. 3
920906113028. 4

Question Number : 57 Question Id : 92090628600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A urey # IESIHR U S| g

1) #Ffear ) Reifaaar
(3) Sepndicy 4) g
Options :

920906113025. 1
920906113026. 2
920906113027. 3
920906113028. 4

Question Number : 58 Question Id : 92090628601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vascular bundles in monocot plants are

(M Arranged in rings
(2) Arranged in steler region
(3) Scattered in steler region

(4) Closed and scattered in steler region

Options :

920906113029. 1
920906113030. 2
920906113031. 3
920906113032. 4

Question Number : 58 Question Id : 92090628601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Udd IS gyl H Hdg-l gd gl &

(1) da9 ¥ afyd (2) &3 H gafeyd

3) WeFHfTE g (4) Wgd aur I &3 H faEr gu
Options :

920906113029. 1
920906113030. 2
920906113031. 3
920906113032. 4



Question Number : 59 Question Id : 92090628602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Turpentine which is an oleo - resin is obtained from

(1)  Pinus (2) Abies
(3) Gingo (4) Cycas
Options :

920906113033. 1
920906113034. 2
920906113035. 3
920906113036. 4

Question Number : 59 Question Id : 92090628602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eUeTe ol U Sfiferaied g, e 9 urd fopan oiran @

(1) BT (2) Ufay
3) sl 4) TEHY
Options :

920906113033. 1
920906113034. 2
920906113035. 3
920906113036. 4

Question Number : 60 Question Id : 92090628603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protochordates are included under chordates by the presence of

(1) Nerve chord (2) Notochord
(3) Nerves (4) Vertebral column
Options :

920906113037. 1
920906113038. 2



920906113039. 3
920906113040. 4

Question Number : 60 Question Id : 92090628603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uicihlac &l Blael # Fd B IufUfd & SR TG A1l &

(1) dEEITS 2 YETH
(3) dfEer (4) HUSD qUS
Options :

920906113037. 1
920906113038. 2
920906113039. 3
920906113040. 4

Question Number : 61 Question Id : 92090628604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scaly anteaters are included under

(1) Eutheria (2) Prototheria
(3) Metatheria (4) Insectivora
Options :

920906113041. 1
920906113042. 2
920906113043. 3
920906113044. 4

Question Number : 61 Question Id : 92090628604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e AR (TTger) 1 9 | 3@1 ol 8
(1) giuf 2) e
)  Herfufar (4) SAfGeaRT

Options :



920906113041. 1
920906113042. 2
920906113043. 3
920906113044. 4

Question Number : 62 Question Id : 92090628605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hormones are released in

(1) Lumen of endocrine gland (2) Blood
(3) Outside the endocrine gland (4) Blood cells
Options :

920906113045. 1
920906113046. 2
920906113047. 3
920906113048. 4

Question Number : 62 Question Id : 92090628605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl Ifad gld &

(1) 3idrefd 99 & ga- & ) &
(3) Sl Ui & &R (4) o DIFRABTAI
Options :

920906113045. 1
920906113046. 2
920906113047. 3
920906113048. 4

Question Number : 63 Question Id : 92090628606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nerve impulse in a neuron travels in

(1) one direction (2) two directions
(3) multidirections (4) from cyton to axon
Options :

920906113049. 1
920906113050. 2
920906113051. 3
920906113052. 4

Question Number : 63 Question Id : 92090628606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A BT 3137 1 vaTe gl

(1) U®dfeEnH 2) fgfR=maid
(3) «g fqumsid (4) THEeH 4 taH |
Options :

920906113049. 1
920906113050. 2
920906113051. 3
920906113052. 4

Question Number : 64 Question Id : 92090628607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Catract of human eye defect refers to

(M Shrinkage of eye lens

() Wrinkling of eye lens

(3) Denaturation of protein in eye lens

(4)  Denaturation of crystalline protein of eye lens
Options :
920906113053. 1
920906113054. 2

920906113055. 3
920906113056. 4



Question Number : 64 Question Id : 92090628607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH4d 2P & AR Fevae I g &

(1) o & " &1 Rpe

(2) oifE® du A ghusT

(3) offE & od | UieH &1 f[agfagq

4) offE & oH & b diA UIidH &1 Agfaga

Options :

920906113053. 1
920906113054. 2
920906113055. 3
920906113056. 4

Question Number : 65 Question Id : 92090628608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Water from digested food in absorbed from

(1) lllium (2) Large intestine
(3) Duodenum (4) Stomach
Options :

920906113057. 1
920906113058. 2
920906113059. 3
920906113060. 4

Question Number : 65 Question Id : 92090628608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gIfd HieH & o &1 SNl dgare

(1) sfergH (2) 92 3F
(3) sdfe™ (4) SHTHIEY

Options :

920906113057. 1
920906113058. 2
920906113059. 3
920906113060. 4

Question Number : 66 Question Id : 92090628609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): Telomeres are unique structures at the ends of linear
chromosomes. Telomeres are replicated by telomerase a
specialized polymerase that carries its own RNA template.

Reasons (R) : In lagging strand in prokaryotes, first an RNA primer is synthesized
by primase, like leading strand synthesis, DNA polymerase Ill binds
to RNA primer and adds deoxy ribonucleotides.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(M Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906113061. 1
920906113062. 2
920906113063. 3
920906113064. 4

Question Number : 66 Question Id : 92090628609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

411 3 FYA AU §: UF 3HHHYA (Assertion A) & U H farfed g 1 g1 396
DR (Reason R]fﬁmﬁ;

AHUFYT A :  AdFGUS WY ORET & 3fd ¥ [yd Ay W= gidt 8 siaavs &1
ufdela ey ame ARy diedid gr1 gkl 8 Sl 3fuA1 W&d &1
RNA 2TO¢e &l 8l

DRUIR: MHRaed o ¥ U0 & H Uy ¥ & Jauu ¥ gduyn
RNA UTSHY UTSHA gRT YYASd §Id1 8, DNA UTdTAYd 11l RNA UISH 9
Sean fEHRIREaYfFadicrs ey disd ¢l

IRIF HYA & Tdid |, i 50 70 fawed § 9 Ig! I &1 999 Hifelg

(1) ASIRRGH Ul € SRR, A DI ol AT &

) ASIRREH S €, Af1 R, A P el A ST ©
() AWEE AFIRIE TR

4 A¥STEE AMPTRUL R

Options :

920906113061. 1
920906113062. 2
920906113063. 3
920906113064. 4

Question Number : 67 Question Id : 92090628610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  In preparatory phase of glycolysis phosphorylation of glucose takes
place and converts into glyaraldehyde-3-phosphate. Hexokinase
like many other kinases requires Mg™" for activity.

Reasons (R) : In payoff phase of glycolysis, under aerobic condition two
molecules of NADH are formed in cytosol along with two
molecules of pyruvate and two molecules of ATP.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A} is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906113065. 1
920906113066. 2
920906113067. 3
920906113068. 4

Question Number : 67 Question Id : 92090628610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 3 FyA QUL §: U SHHFY (Assertion A) & U H farfad & 1 g1 396
DR (Reason Rjﬁmﬁ;

AMUPYTA :  TARHIIR DI YT IR H b BT BIBIRAIEI gib U8
-3- Hihbe ¥ gadl ol sdIPIe g Bl o §gd 9
BT & GAF U frar=iierdl g Mg** @1 MaXgHdl gld] ol

PRUIR : AEHIAEY $f U-34P (Id1g o) a1 §, gadig f&yfa § NADH &
2 U] TSR W §-1d 8 | 1Y B UISHde duT ATP & g1-al AU & Id g |

IRIFd HY & ATl H, A 35U 0 fawedi § ¥ gl I &1 994 Hiferg

(1) ASRREH UL € 3R, A DI &l AT &

2) ASRREAIUEE ABAR A T TEl oarEm A &
(3) AWEIE APTIRIG TSR

(4) AHSITEIE, AfBTRUE B

Options :

920906113065. 1
920906113066. 2
920906113067. 3
920906113068. 4

Question Number : 68 Question Id : 92090628611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Specific amino acids may be replaced individually by site directed
mutagenesis. This powerful approach to studying protein structure
and function changes the amino acid sequence of a protein by
altering the DNA sequence of cloned gene.

Reasons (R} : When suitably located restriction site A are not present in the
sequence to be altered, an approach called oligonucleotide-
directed mutagenesis can create a specific DNA sequence change.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906113069. 1
920906113070. 2
920906113071. 3
920906113072. 4

Question Number : 68 Question Id : 92090628611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



411 3 HYA fAU TN §: UF NS (Assertion A) & U ¥ ferfad & a1 g1 396
SR (Reason R) HEUH;

AHYFYA A ;. WH FERM ey Qaiaded) & R a9 U ond &
qufdds €U 4 gedl ol Gddl & | WIEH S3EH1 aUl S Heqgd H- Bl
U8 Y db-1d W & THIAT 3% 3IHH H TS Sl & DNA &
3IehH B UREd S gRdd- Sl gl

FRUR: ofd S drdt SfepH § 3fd T 9 ¥ Rya YReaws wa 8 gl g a9
Afermgfdasierss MR HenHRM AHe HTH DNA 3 HH |
fafay uiada & 91 g1

SRIF $YA & el |, 1 iU U [l § 9 el I &1 999 $iforg

(1)  AJARREH LI ¢ IR R, A D &l TS &

(2) ASRREH eI, AR, A I el AN 6] &
@) ATHE ABIRIS TR

4) ATEEE, Al R TE @

Options :

920906113069. 1
920906113070. 2
920906113071. 3
920906113072. 4

Question Number : 69 Question Id : 92090628612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): The thylakoid reactions of photosynthesis take place in the
specialized internal membranes of chloroplast called thylacoids.

Reasons (R) : The end products of these thylakoid reactions are used for the
synthesis of sugars in the carbon fixation reactions.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(M Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906113073. 1
920906113074. 2
920906113075. 3
920906113076. 4

Question Number : 69 Question Id : 92090628612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3 HYA AU T §: U HHHYA (Assertion A) & ©U H farfed g a1 g¥R1 396
@R (Reason R) & ® Y fl';

HHFYT A : TP TN Bl YScidlgs bl TR i ARy siaite e
ford urgeisTs e Pel ofidl § IR U= gl &l

FRUIR : =1 UIgdHIgs fhanell & 3id ITe] 1 YN Hia- ddiwT fearaf
o wrehr3ff & STl 7 fhar |rar g

IR HYF & el H, i G M0 fawed § 9 "8l I &1 999 Sifoe
(1) ASRRGH UG ¢ SRR, A DI ol AT §

(2 ASIRREH UEE Al R A P el N T8l &

B ATHE AFTRIG TR

4 AURITEE APTRALT



Options :

920906113073. 1
920906113074. 2
920906113075. 3
920906113076. 4

Question Number : 70 Question Id : 92090628613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the otheris
labelled as Reason (R).

Assertion (A) :  In a healthy body RBCs can live for several months or years.

Reasons (R) : RBC's are responsible for transportation of oxygen and some
amount of carbon dioxide also.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906113077. 1
920906113078. 2
920906113079. 3
920906113080. 4

Question Number : 70 Question Id : 92090628613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 2 HYA 3T TN §: UF SHUHUA (Assertion A) & ¥U T foRad g f g1 39
R (Reason R) CESURS

AUBUT A . W IR T RBC 3 HEHI 3Ydl gy & silldd I8 Pl o

PRUR: RBC Ao & iUl 9ul $& A H CO, I @ ofF &1 ol d1d
Nl

IR HYF & AHelw H, A9 U 70 fawedl § 9 gl I &1 994 Sifou

(1)  ASIRRGH HEl € IR R, A Bl el AT 8

) ASRREH GE € AfPAR, A B USRS T8l &

3) AWEE APTIRIS TR

(4) AWSITEIE APTRITI

Options :

920906113077. 1
920906113078. 2
920906113079. 3
920906113080. 4

Question Number : 71 Question Id : 92090628614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): A hormone is a molecule that is released in one part of the body
but regulates the activity of cells in other parts of the body.

Reasons (R) : The circulating blood delivers hormones to cells throughout the
body.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A\) is correct but (R) is not correct

(4) (A\) is not correct but (R) is correct

Options :



920906113081. 1
920906113082. 2
920906113083. 3
920906113084. 4

Question Number : 71 Question Id : 92090628614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 9 $UA U T §: U SHIHHYA (Assertion A) & U H fafed 8 ol g1 39&
&R (Reason R) ﬁmﬁ;

AHUHYT A :  THHA TS T 3] ¢ ol IR & U HAT 9 e & S € e
YRR & 3 HAT $I SIAS1S B b1 &1 FafEa e gl

PRUR: Y& UdTg & 91 g & ¥ YRR # UgaI &l gl
IRl YA & et |, A AU 7 fasedl § I 9gt IRk &1 99+ ifeie

(1) AS3RRIA TE E AR R, A DI el RS §

2) ASRRIFATEE AFAR A DI TS A el &
(3) AWEIE ABTRES TSR

4) ATEITIE APTRILE

Options :

920906113081. 1
920906113082. 2
920906113083. 3
920906113084. 4

Question Number : 72 Question Id : 92090628615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Phytochrome is most abundant in etiolated seedlings.

Reasons (R) : Most biochemical studies have been carried out on phytochrome
purified from non green tissues.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A\) is correct but (R) is not correct
4 (A\) is not correct but (R) is correct
Options :
920906113085. 1
920906113086. 2

920906113087. 3
920906113088. 4

Question Number : 72 Question Id : 92090628615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

419 3 HYA U U §: UF MUY (Assertion A) & =0 H fafad § o1 g¥R1 I9&

N (Reason R) FEUH:;

AUPYTA : WIZHH sfednies Hiskiy migha Taifgal) & wartfe urn s 21

PRUR: HYFR SREEAS LA 3 WgTd BIZclHH HERka FHasl 4
e fag 7 2

I HYA & HTeid H, i AU 70 fabedl § T 98l IR &1 994 Sifoe

(1) A SIRREH gl € 3R R, A ®I 8l AT 8

) ASRREFITE E AfPBAR A DI Hel AT L &

3) ATEE AfFTRIG TR

4) ATEITIE APTRIL

Options :
920906113085. 1



920906113086. 2
920906113087. 3
920906113088. 4

Question Number : 73 Question Id : 92090628616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of genome of different organisms in increasing order

A. Homo sapians

B. Escherichia coli

C. Drosophila melanogaster
D. Saccharomyces cerevisiae
E: Caenorhabditis elegans

Choose the correct answer from the options given below :

(1) ABCDE
(2) B,C,DEA
(3) B.D,EECA
(4) ED CBA

Options :

920906113089. 1
920906113090. 2
920906113091. 3
920906113092. 4

Question Number : 73 Question Id : 92090628616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faf¥r Sfidl 1 I S & Fed oA # orafyd B

A, EiHl dfgg

B. U¥Rifaar #iarg

C. S AaTimRey
D. dBHIEuT Gl
. RAReSERY velilg

1 feu U fawedi # § Ugl 3T &1 9094 Dl :

(1) ABCDE
(2) B.C,DEA
(3) B.D.ECA
(4 EDCBA
Options :
920906113089. 1
920906113090. 2

920906113091. 3
920906113092. 4

Question Number : 74 Question Id : 92090628617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of protein components of mitochondrial electron
transfer chain.

A. Succinate dehydrogenase
B. Cytochrome oxidase

C. NADH dehydrogenase
D.

Ubiquinone Cytochrome C oxidoreductase

Choose the correct answer from the options given below :

(1) ABCD
2 DCBA
(33 CDAB

(4) CADB



Options :

920906113093. 1
920906113094. 2
920906113095. 3
920906113096. 4

Question Number : 74 Question Id : 92090628617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HECIPISdd sude - RIFIGRU $Gdl # UIeH Uedhi & Ha! S-hH Pl 99 B

A edie fEeraihy
B. WHCKhIN HleH
C. NADH fsgrgsiforg

D. Yd®HHA HIZehH C AiigiResd
i feu U faswedi # § Ugl I &1 994 Difeid :

() ABCD

(2) D,C,BA

(3) C,D,AB

(4 CAD,B
Options :

920906113093. 1
920906113094. 2
920906113095. 3
920906113096. 4

Question Number : 75 Question Id : 92090628618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of the Southern blotting procedure, as applied to DNA
fingerprinting is

A. Incubation of nylon membrane with radiolabelled DNA probe.

B. Separation of digested DNA fragments by agarose gel electrophoresis.
. Denaturation of separated DNA and transfer to nylon membrane.

D. Exposure of X-ray film to membrane for analysis of results.

E; Digestion of chromosomal DNA with restriction endonucleases.

Choose the correct answer from the options given below :

(1) EDCBA
(2) E.B.CAD
(3) A BCDE
(4 ACBED

Options :

920906113097. 1
920906113098. 2
920906113099. 3
920906113100. 4

Question Number : 75 Question Id : 92090628618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DNA fiTRItfET # we sdlfden &1 agt o §

A. STidacs DNA Ui &1 Aai el 9T S

qiferd DNA ©US! &1 W Wid fdggd &0l Jaa gRT JUEho|
QY dd DNA F faFdig= ayr Arge f3red T R
fSrect! o1 gaR fihe & fog S umra R fazemor gq

E.  TUREA DNA &1 YaeaH Te-gfdaud gRI urEA

= fau T fasedi | | 98l IR 1 9894 DI ;

(1) ED CBA
(2) E.BCAD
(3) A B, CDE
(4) A CBED

O N W

Options :

920906113097. 1
920906113098. 2
920906113099. 3
920906113100. 4

Question Number : 76 Question Id : 92090628619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of intermediates formed in Calvin cycle is

A. 1,3-biphosphoglycerate
3-phosphoglycerate
Glyceraldehyde 3-phosphate
Ribulose 1,5-biphospahte

m o O m

Dihydroxy acetone phosphate

Choose the correct answer from the options given below :

(1) CAEDB
) D,BACE
3) EBDCA
4 ABCD,E

Options :

920906113101. 1
920906113102. 2
920906113103. 3
920906113104. 4

Question Number : 76 Question Id : 92090628619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fca 9 | 999 916 Hegafdl &1 TEl THEH § ;

A, 13-SRHREBITRRE
B. 3-TIbIfieraRe

c. ericeggs-3-wiahe
D. Red™ 1, 5- SgHREGS

E. SI3eggial THIcH Blehe
1 feu U fawedi A 9 Ug! I &1 944 Hifeit :

(1) CAEDB
(2) D,BACE
(3) EBDCA
(4 ABCD,E

Options :

920906113101. 1
920906113102. 2
920906113103. 3
920906113104. 4

Question Number : 77 Question Id : 92090628620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of vertebrae arranged in a vertebral column in human is :

A. Sacral vertebrae

B. Lumbar vertebrae
C. Axis vertebrae

D. Thoracic Vertebrae
E. Atlas vertebrae

Choose the correct answer from the options given below :

(1) ECD,BA
(20 ABDCE
(3) D,BAEC
(4 BAECD

Options :

920906113105. 1
920906113106. 2
920906113107. 3
920906113108. 4

Question Number : 77 Question Id : 92090628620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHq 3%e08 1 HIvHT 9 § afeyd gidl §

A UHId HUATH]
B. TR HUTHI

C. Uy H2eahl
D. URIYD HUTHI
E.  Uead S

419 fau U fasedi O 9 Hel 3T &1 9494 Difei

(1) ECD,BA
) ABDCE
(3) D,BAEC
(4 BAECD



Options :

920906113105. 1
920906113106. 2
920906113107. 3
920906113108. 4

Question Number : 78 Question Id : 92090628621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To obtain, a large no. of copies of DNA through PCR includes the following steps.

A. Double stranded DNA with known ends.
Separate chains by heating to 95°C.
Addition of heat tolerant —Tag polymerase and nucleotides and heat to 72°C.

Addition of Nucleotides to primer using single strand as template.

m o N o

Cool to allow primer to form hydrogen bonds with ends of target sequence.

Choose the correct answer from the options given below :

(1) ABDCE
(2) A BCDE
(3) A B ECD
(4) A B DEC

Options :

920906113109. 1
920906113110. 2
920906113111. 3
920906113112. 4

Question Number : 78 Question Id : 92090628621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PCR gRT (¥ W& # DNA R U 33 &g Uel &1 7 FE a1
A f5®S DNA RS RR I §

B.  SRgalisHl Bl 95°C TR TTH dich Sfeli] Al

C. dY gigw] ¢& UIeiiHd Ud Yfdadiergs &l i aur 720 @R 1 &A1
D. WS # Udd ¥ & THde & ¥4 § ITGN FP Jlaerdierss & sl
E. Ehfe 3@ & RRI R UM gRI gI3eled ¢ &9 gd 8Us] Bl

i fau U fawedi § 9 Hg1 I &1 994 Difere :

(1) ABDCE
(2 ABCD,E
(3) ABECD
4 A BDEC

Options :

920906113109. 1
920906113110. 2
920906113111. 3
920906113112. 4

Question Number : 79 Question Id : 92090628622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The lytic cycle of Phage T4 has

A. Self-assemble of three different protein to form phage component.

B. T4 make attachment with specific surface protein through tail fibres.

C. Production of enzyme to damage bacterial cell wall.

D. Contraction of tail sheath, DNA enters into the cell leaving capsid outside.

E. Phage DNA directs production of phage protein and copies of phage genome

with the help of host and viral enzyme.

Choose the correct answer from the options given below :

(1) B,C,D.EA
(2) B,D AEC
(3) B,D,E A C
(4) B, C,ADE

Options :

920906113113. 1
920906113114. 2
920906113115. 3
920906113116. 4

Question Number : 79 Question Id : 92090628622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1, fagSh (o) & ao T A ST § -
A dF fafE 0dH & W-agEgA A fadelt S aed - d € |

B. T.U®® dd® gRI Ay ¥dg WidH & |y dag glar sl
C. oitam Hiftre fiifd @ aifausd s34 & fo TogH 4 Jag gl e

D. g@&gﬁﬁﬁsaﬁq%mamqmﬁmmﬁﬁmﬁm
Hdl gl

. fagich St 1. ¢ wdie SR fwm GersA @t werdn ¥ fadist widH ud fageh
S @ ufadl & Iang &1 AR Har gl

1 feu 7o faswedi A § Ugl 3T &1 984 B :

(1) B,C.D,EA
(2) B,.D AEC
(3) B D E AL
(4) B.CADE

Options :

920906113113. 1
920906113114. 2
920906113115. 3
920906113116. 4

Question Number : 80 Question Id : 92090628623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|  : In total, only about 1.5% of Human DNA is coding or exon
DNA, carrying information for proteins or RNA products.
However, when the much larger introns are included in the
count, as much as 30% of the human genome consists of
genes.

Statement Il : DNA helicase is the enzyme, that increase or decrease the
extent of DNA underwinding and affect the linking number.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

920906113117. 1
920906113118. 2
920906113119. 3
920906113120. 4

Question Number : 80 Question Id : 92090628623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=9 ol HyA Ru e &:

@Y | : HId DNA &1 Fd THTHTT 1.5% DIFST 3{Udl TaH DNA § Sl UieiH 3fual
RNA 3dTEd & folE Ga1 &1 o ol ¢ | &9 3ffd §9 32 dI3< |
Hfvferd fhu Srd & ad JHd SiiFH § 30% b S8l 8 |

HUF Il DNA gfeihd U1 TSI ¢ Sf DNA & G- @] HEl &l 9 d dgl &l
HIH HIdl & ayl feifd 1 e &1 uHfad s 8|

JRIFd HY & i H, A fSu 70 faeedi § T et I &1 994 $iferg

(1) SYFIARNSHI IS

(2) YIRS AT §

(3) Y| HA g, Wi DU 1| ST &
(4) YT g, b YT 1T &

Options :

920906113117. 1
920906113118. 2
920906113119. 3
920906113120. 4

Question Number : 81 Question Id : 92090628624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Many species of biennials and pereannials are induced to
flower by low temperature exposure (0°C to 5°C) and the
process is called vernalization.

Statement Il : Vernalization elongates the vegetative period and induces
the plant to flower earlier.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :



920906113121. 1
920906113122. 2
920906113123. 3
920906113124. 4

Question Number : 81 Question Id : 92090628624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=9 g HyA fRuTu &

&y | : 9gd 4l fgadfy 9 sgadla usfadl &1 &1 amumE (0°9¢-5°C) & fog
mumgnw%ﬁﬁqﬁhaﬁwm%am&u@aﬁaﬁfﬂmm
&gl Hldl &l

Yl : aﬂgmmwﬁwﬁ%amﬁﬂﬁaﬁw%gm
Xl ¢l

QIURIFd HYA & 3Tl H, A1 35U 0 [aoedi § ¥ ¥el I &1 99 Hiforg

(1) SFIARNSHITTE

(2) YT N ST AT §

(3) YA Td ¢, Tihd HYA |l 3T §
(4) HYT| A B, Afbd YT TAE

Options :

920906113121. 1
920906113122. 2
920906113123.3
920906113124. 4

Question Number : 82 Question Id : 92090628625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement|  : Glycolysis involves a series of reactions carried out by group

of soluble enzymes located in both cytosol and plastid.

Statement Il : Pentose phosphate pathway is also located both in cytosol

and plastid.

In the light of the above statements, choose the correct answer from the options
given below :

(1)
(2)
3)
(4)

Options :

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect but Statement 1l is correct

920906113125. 1
920906113126. 2
920906113127. 3
920906113128. 4

Question Number : 82 Question Id : 92090628625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

g sy Ru g
YA | - TarsEIerad § ud s &1 &1 g1d1 § & UgeEd Ul Wikes aFl

H IufRyd UeIIgH 94g gRI 49U 8Ia1 gl

FU || - U wiEke Uiyd H IEed dul wWifes aFi | g grar g |
IRad Y9 & 3Tdld ¥, 19 G e fasedi 4 9 98l IR &1 994 Sifow

(M
(2)
(3
4

Options :

FYT I AR 1 S T B

HY | 3R 11 3T A &

HYF | I 8, Afh FUF 1| 3T &
FU | 3T, APIHYT 11 T &

920906113125. 1



920906113126. 2
920906113127. 3
920906113128. 4

Question Number : 83 Question Id : 92090628626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement| : Prions are not inactivated by temperature upto 90°C.

Statement Il : Prion infection is sensitive to radiation treatment.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906113129. 1
920906113130. 2
920906113131. 3
920906113132. 4

Question Number : 83 Question Id : 92090628626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HERE TS

HYF | : UEH 90°C dd & dIuHA da [feesy =g gian g1

HY || UHH WhHUT fafdRor IueR & fere aesfia g 8l

IR HYA & 3Tedleh |, A1 3 e fasedl # @ 9al I &1 994 Sifore

(1) SYFIARNGH IAdE

(2)  HYTI1 RIS AT §

(3) DY A g, Wit HYA || ST &
@4) DY AT G, AP FYT I T §

Options :

920906113129. 1
920906113130. 2
920906113131. 3
920906113132. 4

Question Number : 84 Question Id : 92090628627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement| : lon exchange chromatography exploits differences in the sign and
magnitude of the net electric charge of proteins at a given pH.

Statement Il : In ion exchange chromatography, separation can be optimized by
gradually changing the pH and/or salt concentrations of the
mobile phase to create pH or salt gradient.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect Statement Il is correct

Options :
920906113133. 1
920906113134. 2



920906113135. 3
920906113136. 4

Question Number : 84 Question Id : 92090628627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 G vy RRu T &:
&Y | - A faFey quiee U 33 gU pH R WdH & A¢ fagqyd omau &
ferget wd Jtaa1 & SfeR $1 IUGRT Rl B

S Il ; 31 AT quica # 99d WIdR & pH iR 344l @aul digal &
®ii® uRddd gRI pH I1 @aul yquidl Fffd #3& gudeu &1 gpad
a1 &1 9w g1

IR HYA & 3Tl H, A1 U 78 fawadl § 9 Hal 3R &1 994 Bife

(1) SYFIARNSAITE

(2) YA SR I S HFI E

(3) YT ITIE Afbd FYF 11 3T &
(4) HY| A g, Afchd B I TT g

Options :

920906113133. 1
920906113134. 2
920906113135. 3
920906113136. 4

Question Number : 85 Question Id : 92090628628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement| : Chlorophylls 'a’ and ‘b’ are abundant on green plants and ‘c’,

‘d’ are found in some protists and cyanobacteria.

Statement Il : Carotenoids are found in all photosynthetic organisms and

are integral constituent of thylakoid membrane.

In the light of the above statements, choose the correct answer from the options
given below :

(1)
(2)
(3)
(4)

Both Statement | and Statement |l are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement |l is incorrect

Statement | is incorrect but Statement Il is correct

Options :

920906113137. 1
920906113138. 2
920906113139. 3
920906113140. 4

Question Number : 85 Question Id : 92090628628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

H gl FyA R MU §:

hyd | :

TR “a” qUl “b* & Uie I U’ 0Ell | Ul “c”, “d” $9 Wi d
TSRl § 9 S gl

FYF 1| ; PUfeAIgs T UHTIRITEY! Siidl T Ul @IdT § dYT Yihasias foreet

H T IeH gl ¢ |

SWRIFd $YA & did H, i [0 77U fadwedl § 9 gl I &1 994 Hiferg

(1
(2)
3)
4)

HYF | SR || SF T §
HY | 3R 11 S 3 B
HYT | T g, A HYF 11 3T §
HY | 3 g, A Y 11 TT &

Options :
920906113137. 1



920906113138. 2
920906113139. 3
920906113140. 4

Question Number : 86 Question Id : 92090628629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Auxins have been used commercially for prevention of fruit
and leaf drop only.

Statement Il : In some plant species seedless fruit are produced with the
help of treatment of unpollinated flower with auxins.

In the light of the above statements, choose the correct answer from the options
given below :

(n Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement Il is true

Options :

920906113141. 1
920906113142. 2
920906113143. 3
920906113144. 4

Question Number : 86 Question Id : 92090628629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g HyA Ru U §:

FYF | ;SR AW ¥9 A Had Bd dU Ul &1 RA F A & g
TN H 3M1d el

HUY || : $& Uy Yol H dioRed Bd e o ORI gl &1 e
SR IUDR &1 o 8

IRIF HYA & e |, 1 f5u o faewedl § 9 Ig I &1 999 Hiforg

(1) @Y IR NI Id 8

(2) HYFI SRS EA 8

(3) HYTIFIE, A Y1 T &
(4) HYFIATIE, AHT PYA I T E

Options :

920906113141. 1
920906113142. 2
920906113143. 3
920906113144. 4

Question Number : 87 Question Id : 92090628630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During protein synthesis, termination occurs.

A. Termination signal causing the polymerase to detach from the DNA and
release the transcript.

B. In eukaryotes polymerase-Ill transcribes a sequence AAGUAC.

C. Termination signal causing the polymerase to undetach from the DNA.

D. Termination signal causing the polymerase to detach from the RNA and

release the transcript.

E: In eukaryotes polymerase-ll transcribes a sequence AUGAAA.

Choose the correct answer from the options given below :

(1) A, B only
(2) A, C Donly
(3) A only

(4) A, B only



Options :

920906113145. 1
920906113146. 2
920906113147. 3
920906113148. 4

Question Number : 87 Question Id : 92090628630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIEH S0 & SR WHIUA §1dT 8-
A.  HHIUA Ydd & gRI 9T DNA 4 g 2iihy &1 gad H3dl g

B. YbIared H UIdHRY Il 3IHH AAGUAC HT 30 Fal ¢ |
C. YU Ydd UIdHY &1 DNA ¥ f[dev Hear g |
D. HHIUA b UIHLY &I RNA ¥ fIa &l & 9T 3o’ Jad gidl el

E. ghiaed H UIeay || 36HH AUGAAA &1 30 &l o
A1 fu U fadhedl # ¥ el SR &1 994 ST

(1) $ddA, B

(2) HAdA C D

(3) hadA

(4) Hdd A B
Options :

920906113145. 1
920906113146. 2
920906113147. 3
920906113148. 4

Question Number : 88 Question Id : 92090628631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which protein/s are present in neutrophil?

A. Collagenase
B. Leukotrienes
G Defensins

D. Cytokines

E. a-1 antitrypsin

Choose the correct answer from the options given below :

(1 A, B, Conly
(2) A, B, D, E only
(3) A, C, Eonly
(4) B, C, D, E only

Options :

920906113149. 1
920906113150. 2
920906113151. 3
920906113152. 4

Question Number : 88 Question Id : 92090628631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gZIfthel # & 1A W Ui §ild & ?

A, Didel—g

B. TPICRA

c. feolRmA

D. WRCHIEA

E. o1 TdRewE=

A fu v fasedi # ¥ Wel IR &1 994 i
(1) &HddA, B, C

(2) PddA B D,E

(3) &ddACE

(4) &ddB,C D E

Options :

920906113149. 1
920906113150. 2
920906113151. 3
920906113152. 4

Question Number : 89 Question Id : 92090628632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Molecular techniques used for the identification of micro-organisms from
environmental samples includes

A. Metagenomics

B. CARD-FISH

e Denaturing gradient gel electrophoresis
D. ELISA

. Phylochips

Choose the correct answer from the options given below :

(M A, C,Donly
(2) A, D, E only
(3) A, C, E only
(4) A, B, Conly

Options :

920906113153. 1
920906113154. 2
920906113155. 3
920906113156. 4

Question Number : 89 Question Id : 92090628632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRl T A Gereial &1 ygarHd | Ugad fvad ddb-id o H g ?
A, HeslHITEe

B. CARD-FISH

C. fapfaa uaurar S faggd &1 ¥ded
D. ELISA

E.  TIalee

g feu U fasedi A ¥ Hel 3T &l 98- Difei :

(1) HddA, C D

(2) $ddAD,E

(3) &dAACE

(4) $HddA,B,C
Options :

920906113153. 1
920906113154. 2
920906113155. 3
920906113156. 4

Question Number : 90 Question Id : 92090628633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sieve-tube elements found in Angiosperms are

A. Sieve tube
P-protein present
P-protein absent

Sieve-plate

m o N o

Companion cells

Choose the correct answer from the options given below :

(1) A B,D,Eonly
(2) A CD,Eonly
(3) A, B, C D, Eonly
(4) A B Eonly



Options :

920906113157. 1
920906113158. 2
920906113159. 3
920906113160. 4

Question Number : 90 Question Id : 92090628633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UiRraeaH | Ui S ardl 9ret Alcidl Ued g
A dreH! Aferenl

P-IEH JufRud

P-UTeH S qieYyd

a1 @I

TR BIRISY

e feu e fawedl § 9 T8l 3T &1 994 ifo
(1) ®ddA, B,D,E

(2) ddA CD,E

(3) ®ddA,B,CD,E

(4) HddA,B,E

w

=0

m

Options :

920906113157. 1
920906113158. 2
920906113159. 3
920906113160. 4

Question Number : 91 Question Id : 92090628634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following are associated with endocrine functioning of pituitary endocrine gland.

A. Pars convoluta
B. Pars intermedia
& Pars rodita

D. Pars nervosa

E. Pars distalis

Choose the correct answer from the options given below :

(1) B,D,E Aonly
(2) B, D Eonly

(3) A, B, C D, Eonly
(4) B,C D, Eonly

Options :

920906113161. 1
920906113162. 2
920906113163. 3
920906113164. 4

Question Number : 91 Question Id : 92090628634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafea digy sia-wrd! 3 1 sid:ward! SRV 9 Jaf<d &
A. U STl

uR gexihtear

U Xfeger

g Aa

e U fEwefer

m

o 0O

9 fau U foeedl # ¥ Hel I &1 994 Sifee

(1) &ddB,D,E A

(2) $ddB,D,E

(3) $ddAABCD,E
(4) $ddB,CD,E

Options :

920906113161. 1
920906113162. 2
920906113163. 3
920906113164. 4

Question Number : 92 Question Id : 92090628635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Microbes involved in biological fixation of nitrogen are

A Nitrosomonas
B. Azobacter
C. Pseudomonas
D. Anabaena
E. Rhizobium

Choose the correct answer from the options given below :

(1) A B,CEonly
(2) B, D, E only

(3) A, B, C D, Eonly
(4) A, B, D only



Options :

920906113165. 1
920906113166. 2
920906113167. 3
920906113168. 4

Question Number : 92 Question Id : 92090628635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS & Gifds Affeieor A wfrifrd gersiia §

A, TAECHEEAR

B. UGaay

C. sHEA

D. TFar

E.  JEuifagd

1 feu U fawedi # § Ugl I &1 994 Difeil :

(1) &ddAB,CE

(2) $ddB,D,E

(3) &ddAB,CD,E

(4) HAdA,B,D
Options :

920906113165. 1
920906113166. 2
920906113167. 3
920906113168. 4

Question Number : 93 Question Id : 92090628636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the vertebrates from the given list.

A. Dog fish

B. Silver fish

G Anguilla

D. Devil fish

E. Hippocampus

Choose the correct answer from the options given below :

(1) A B, D Eonly
(2) A, B, C D,Eonly
(3) A, C, D, E only
(4) A, B, C E only

Options :

920906113169. 1
920906113170. 2
920906113171. 3
920906113172. 4

Question Number : 93 Question Id : 92090628636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad gt # 9 Hsihal &1 997 Sifor ;
A. ST ftew

e fiewr

R

Sfad fie

e fRuiiduy

= feu e faswedl § 9 Tl 3w &1 99 Hifou
(1) ddA,B,D,E

(2) &ddA,B,CD,E

(3) $ddACDE

(4) PHddA,B,CE

w

o 0N

Options :

920906113169. 1
920906113170. 2
920906113171. 3
920906113172. 4

Question Number : 94 Question Id : 92090628637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
(A) Duchenne muscular () Short stature resulted by addition of
dystrophy chromosome 21
(B) Dystrophy Down (Il Deletion in chromosome
syndrome 5 resulted in small head.
(C) Chronic myelogenous (Il Loss of coordination due to the
leukemia absence of gene an X-chromosome
(D) Cridu chat (IV) Exchange of a large portion of

chromosome 22 with a small fragment
from a tip of chromosome 9

Choose the correct answer from the options given below:

(1) (&)=, (B)-(1), (C)-(ll), (D)-(IV)
(2) (A=), (B)-(1), (C)-(V), (D)-(I1)
(3)  (A)-(), (B)-(1), (©)-(IV), (D)-(1)
4) (A=), (B)-(1), (©)-(1, (D)-(IV)

Options :

920906113173. 1
920906113174. 2
920906113175. 3
920906113176. 4

Question Number : 94 Question Id : 92090628637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-| -
A) SEATGR @EETRT ) TTORE 21 R SRS TURE F s d
fSmt BT &G
(B) I3 Rigm () TORA 5 H HHl & SR Bl R
(C) HID HIgaod BT (1) X- OREF W S Bl HHt 9 G99y & Sl
(D) PE-§-dT (V) 7O 9 & RIY & BT YT & 91y ORE
22 & g U &1 fafmg

T fau 71U fasedl # | Hel IR &1 984 Bifolg:

(1 (A)-(), (B)-(D), (C)-(I), (D)-(1V)
(2)  (A)-(I), (B)-(1), (©)-(1V), (D)-(1)
(3) (A, (B)-(1), (C)-(IV), (D)-0)
4 (A)-(n), (B)-(), (C)-(1), (D)-(1V)

Options :

920906113173. 1
920906113174. 2
920906113175. 3
920906113176. 4

Question Number : 95 Question Id : 92090628638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Adeno virus (I)  Single stranded RNA virus with
6,000 nucleotide pairs
(B) Polio virus () Double stranded DNA virus with

35,000 nucleotide pairs

(C) Tobacco mosaic virus  (lll) Double stranded DNA virus with
4,500 nucleotide pairs

(D) Polyoma virus (IV) Single stranded RNA virus with
7,500 nucleotide pairs

Choose the correct answer from the options given below:

(1) A=), B)-(IV), (O-(1), (D)-(llN)
(2 (A)-(n), (B)-(1), (C)-(N), (D)-(IV)
(3 (A=), (B)-(1), (C)-(1), (D)-(1V)
4 (A=), (B)-(1). (C)-(IV), (D)-(1)

Options :

920906113177. 1
920906113178. 2
920906113179. 3
920906113180. 4

Question Number : 95 Question Id : 92090628638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-| gl
(A) UfSHl argy () UHdES IR . T A
6000 gibeless gH & 91y
(B) wiferdl Arsyd a fegEsS A vasy
35000 YfHACRIZS gH & 91Y
(€) TEPIANS IR () TES I A .uasw
45000 YfHARCES gH & 1Y
(D) UielSAEZYY (V) THdELs 3R U T a3
7500 YfFARICISS & A1y
i fou e fadhedt | 9§ el I &1 957 DI
(1) (A=), (B)-(IV), (O-(1), (D)-(IN)
(2) (A=), (B)-(lIN), (C)-(1), (D)-(IV)
(3)  (A)-(m), (B)-(1), (C)-(In), (D)-(1V)
(4) (A1, (B)-(1), (C)-(1V), (D)-(l1)

Options :

920906113177. 1
920906113178. 2
920906113179. 3
920906113180. 4

Question Number : 96 Question Id : 92090628639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Use of Hypoxanthine and thymidine () Immuno precipitation
(B) Characterization of (1) ELISPOT Assays

F-globulin serum proteins
(C) Formation of chemiluminescent product (1) Hybridoma

(D) Detection and quantification of number of (IV) ELISA
cells producing cytokines

Choose the correct answer from the options given below:

(1) (A=), (B)-(1V), (C)-(1). (D)-(I)
(2)  (A)-(n), (B)-(1), (C)-(IV), (D)-(In)
(3) (A=), (B)-(V), (C)-(), (D)-(1)
4) (A=), B)-(N), (C)-(1V), (D)-(lr)

Options :

920906113181. 1
920906113182. 2
920906113183. 3
920906113184. 4

Question Number : 96 Question Id : 92090628639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 & Ty G 11 F1 B Hiforg
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(A) BTEUSRIA ud ysEEE &1 udm () wfeReft srgamur
(B F TolIegeii WA WIEH &1 dafor foson (1)  ELISPOT 3{THTGA
€ P i< Iare &1 [t (1 BfESH

(D) WP~ Jdifdd H34 ardl HIHST - (Iv) ELISA
® =1 &1 UgdH Ud HETHS ATHa-

= fau 71 fasedi | 9 Hgl SR &1 984 S

(1) (A)-(n), (B)-(IV), (Q-(1), (D)-(11)
(2) (A, (B)-(1), (©)-(IV), (D)-(IN)
(3) (A, B)-(IV), (Q)-(I1), (D)-()
@) (A)-(n, (B)-(1), (O)-(1V), (D)-(ln)

Options :

920906113181. 1
920906113182. 2
920906113183. 3
920906113184. 4

Question Number : 97 Question Id : 92090628640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List | List II

(A) Marchantia ()  Capsule is polygonal
() Capsule is Pear-shaped, curved and asymmetrical
(C) Polytrichum () Capsule is bristle or Thornlike
(

(D) Funana

(B) Anthoceros

IV) Capsule is oval shaped

Choose the correct answer from the options given below:

(1 (A=, B)-(1), (C)-(ll), (D)-(IV)
(2) (A=), (B)-(1N), (C)-(IV), (D)-(lIN)
(3)  (A-(V), (B)-(l), (O)-(). (D)-(1)
4 (A-(), B)-(1), (O)-(), (D)-(IV)



Options :

920906113185. 1
920906113186. 2
920906113187. 3
920906113188. 4

Question Number : 97 Question Id : 92090628640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 & 1y = 1 B e P

- gl
(A HPRET () FYA (HYH) dgys S g
(B) TR () T (&Y TRIUT- 3T, H1 dfshd Ud SRmfHd 8ia1 &
() idliersH () $YA @Y g ud Wi % FHE g €
(D) FEARE (V) $HA @YD), SSTHR E 8l

Hid fau e fawedi # | UEl I &1 994 Bl

(1 (A, (B)-(, (C)-(1, (D)-(IV)
(2)  (A)-(), B)-(), (O)-(IV), (D)-(lIN)
() (A)-(V), (B)-(l), (Q-(1), (D)-(1)
(4)  (A)-(m, B)-(1). ([©)-(), (D)-(V)

Options :

920906113185. 1
920906113186. 2
920906113187. 3
920906113188. 4

Question Number : 98 Question Id : 92090628641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Phylum) List Il (Excretary organ)
(A) Platyhelminthes ()  Malpighian tubules
(B) Annelida () Nephridia
(C) Arthropoda ()  Flame cells
(D) Mollusca (IV) Feather like Gills

Choose the correct answer from the options given below:

(1 (A)-Q), B)-(), (Q-(IV), (D)-(lIT)

(2) (A=), (B)-(I), (C)-(1V), (D)-(1)

(3) (A=, (B)-(1), (C)-(), (D)-(IV)

4) (A=), (B)-(1), (C)-(IV), (D)-(1)
Options :

920906113189. 1
920906113190. 2
920906113191. 3
920906113192. 4

Question Number : 98 Question Id : 92090628641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 &1 e Difone

- G-I
(A) Wielee=ig () Herdhh i
(B) TAIferST ) Afpfga
(C) SMUTTrST (1) SITe BRI
(D) IR (V) UE o gaH

i feu U fawedi § ¥ Ugl IR &1 994 Bl

(1 (A-. B)-(I), (C)-(1V), (D)-(IIN)
(2) (A=), (B)-(1), (C)-(IV), (D)-(1)
(3) (A, B)-(). (O-(). (D)-(1V)
4) (A, (B)-(), (C)-(1v), (D)-(1)

Options :



920906113189. 1
920906113190. 2
920906113191. 3
920906113192. 4

Question Number : 99 Question Id : 92090628642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Megatively charged amino acid ()  Histidine
(B) Polar uncharged amino acid () Cysteine
(C) Aromatic amino acid (Ill) Aspartate
( (

D) Positively charged amino acid IV) Phenylalanine

Choose the correct answer from the options given below:

(1) (A)-(). (B)-(I), (C)-(), (D)-(1IV)
(2)  (A)-(V), (B)-(l), (C)-(1). (D)-(I)
(3) (A, B)-(IN), (C)-(1), (D)-(IV)
4)  (A)-(V). (B)-(ln), (C)-(1n), (D)-(1)

Options :

920906113193. 1
920906113194. 2
920906113195. 3
920906113196. 4

Question Number : 99 Question Id : 92090628642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Y gt 1 1 e $ifoie

gdl-| G-I
(A) THRIAS AR AT o () fREIEH
(B) ydusFRREARAI s () R
(€ WA O spa () TEReE
(D) ¢FTE® MARE URFI o (v) fohASd tarE

I feu U fawedi # § Ugl I &1 994 Hifel:

(1) (A=), (B)-(1), (O)-(1), (D)-(11)
(2)  (A)-(, (B)-(I), (C)-(I), (D)-(IN)
(3) (A=), (B)-(IN), (C)-(I1), (D)-(IN)
4) (A=), (B)-(1), (O)-(1), (D)-(11)

Options :

920906113193. 1
920906113194. 2
920906113195. 3
920906113196. 4

Question Number : 100 Question Id : 92090628643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Stearic acid (' n-octadecanoic acid
(B) Palmitic acid (1) n-dodecanoic acid
(C) Myristic acid () n-tetradecanoic acid
(D) Lauri acid (IV) n-hexadecanoic acid

Choose the correct answer from the options given below:

(1) A=, B)-(1), (©)-(1), (D)-(IV)
(2) (A1), (B)-(I), (C)-(1), (D)-(IV)
(3) (&), B)-(1), (C)-(1), (D)-(IV)
4) (A0, (B)-(IV), (O)-(1lN), (D)-(I)

Options :



920906113197. 1
920906113198. 2
920906113199. 3
920906113200. 4

Question Number : 100 Question Id : 92090628643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & Ty gt | 1 e Fifo

gl A
(A) WP 3 ) n-3HEISHHIGH 3
(B) UrAfe® 3t (1) n-SledHES 3
€ HRE® s () n-CCTSPHIH 3w
(D) WIS 3 (V) n-eodl ShHISD T

= fau 7T fasedl | 9 Hel IR &1 984 St

(1) (A)-(), (B)-(1), (C)-(I), (D)-(IV)
(2 (A-), B)-I), (C)-(1), (D)-(IV)
(3) (A=), (B)-(1), (C)-(1), (D)-(IV)
@ (-0, (B)-(V), (C)-(In), (D)-(1)
Options :

920906113197. 1

920906113198. 2

920906113199. 3

920906113200. 4



